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CHAPTER 9

Heredity and Evolution

1 There was no free oxyvgen in the early atmosphere
becanse most of it was tied up in
(a) watex (b) smmonia
(¢) methane (d) rock

Aus : (d) rock

2. Which of the follovang provides evidence for evolution?
(1) Direct observations of gemetic changes in populn-
tions
(b) Shared charsetenstics of organsms
(¢) The fosnl record
(d) All of the above
Ans : (d) All of the above

3. Which of the following is a Test Cross?

(a) TT X tt (h) Tt x 1t
(e) T X TT (d) o x at
Ans: (b) Te x 1t

4. In natural selection,

(n) the genetic composition of the population changes
at random over time

(b) new mutations are generated over time

(¢) all mdividuals 1 a population are equally likely to
contribute offspring to the next generation

(d) individuals that possess particular  inherited
characters survive and reproduce at a higher rate
than other mdividunls.

Ans : (d) individuals that possess particular inherited

choracters survive and reproduce at a higher rate than

other imdividuals

§. A heterozygous red-eved female Dyosophila mated

with o white-eved male would produce

(a) red-oyed females and white-eved malos in the K

(b) white-eved females and red-eyed males in the £}

() half red and half white-eyad females and all white
eved mples wm the K

() half red and half white-eyed females as well us
wakes in the &

Ans i (d) half ved and half white-eyed femules ss well
as males in the X

B Sex-linked disorders such as color blindness and
hemohiln wre
(a) cansedd by genes om the X chromasome
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(b) caused by genes on the sutosame

() caused by genes on the Y chromasome

(d) expressed only m men

Ans : (a) cansed by genes on the X chromosome

Which of the following wonld stop evolution by natural
selevtion from ccenrrimg?
(a) If humans became extinot because of a disense

(b) Il s thermonuclesr war killed most hving organss
and changed the environment drastically

(¢) Il ozone depletion led to increased ultraviolet
radiation. which cansed many new routations

(d) I all individuals in s population were geneticnlly
idemtical and there was no genetic recombination,
sexual reproduction, of routation

Ans : (d) If all wmdividuals m a population were

genetically identical and  there was no  genetic

recombination, sexunl reproduction, or mutation

The earliest hving crgnnisms were
(@) multicellular (b) cukaryotes
(e) prokaryotes (d) photosynthesizes

Az : (c) prokaryotes
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Which of the fellowing & Heterozygous?
(a) TTRR (b) tur

(c) TT (d) T
Ans:id) Tt

The phenomenon by which a new set of population is
formed from the change m frequency of some genes is
(a) genetic dnft (b) organic evalution

() variations (d) speciation

Ans : () genetic drift
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The change in the frequency of some genes which leads
to appearance of a new set of populstion without any
survival disadvantage is called genetic drift.

Genetic s 1 the study of-
(a) Inheritance

(¢) Only plants

Ans : (a) Inheritance

(b) Cell structure
(d) Only anunals

If two parents have the genotypes AA X aa, the
probability of having an sa genotype m the F,
gener nlion is

(n) 25 percent (b) 50 percent
(c) 756 percent (d) Nome of the above
Ans : (d) None of the above

Eye calar in the fruit Iy is said to be sex-linked. This
samply means that the gene for eve colour is:

() ou the Y chromosome

(h) on an auto some

(¢) on the X und Y chromesomes

{d) on the X chromosome

Ans : (a) em the Y chromosome

The arrangement of arganisms imto a series of groups
based on physiological, ochemical, anatomical and
other relationships is
{a) hierarchy

(c) taxonomy

Ans : (d) classification
Classification involes hierarchical arrangement hiving
organisng into different categornes on the basis of
cormon mter-relationships between them

The presence of homologous organs i diffevent
animals indicares

(a) independent evohition  (b) conunon sncestiy

(¢) different ancestry (d) hiernrchy

Ans : (b) common sncestry

Hmologous organs reproesent common ancestry. It
ropresents the evolution of closely related species from
A common ancestor.

(b)) categonsation
{d) classification

Gene 18 made of which chencal

(a) DNA, (b) RN A
(c) protein (d) enzyme
Aus: (a) DNA

Fossils are the temains of

() hard parts of life forms in rock

(h) soft parts of life forme in rock

(¢} protein and bones of life forms

(d) Nane of the above

Ans : (a) hard parts of life forms in rock

Fossils are the remams of hard parts of life forms
found in rocks, e g tree trunks or skull

Which of the following vediscovered the Mendel's

work?

(a) Correns

(e) Tschermuark

Ans : (d) oll of the above

(b) e Vries
(d) all of the above

What determines the sexs of a child?

(a) Chremosome content of the ovum

(b) Chromosome content of the spenn

(¢) Number of days between ovalation and fertilisation

(d) Numbar of duys between  fertilisation  ond
implantation

Aus 1 (b) Chromosome content of the sperin

If u sperm contaming X-chromosome fertilises an

ovum, female child is produced If a sperm containing

Y -chromosome fertilises an ovum, male child is

produced. Ovum always provides X-chromosome and

plays no role in detenunmg the sex of a chld.

The Genotype of offspring formed from Tt x tt will
be-
(a) TT and 1t

(¢) omly tr
Ans : (b) Tt and tt

(b) Tt and tt
(d) only TT

Which smongst the listed tools was used to study the
law of inheritance in pea plant by Gregor J Mendel?
(w) Family tree (b) Pedigree chart

(¢) Punnett square {d) Herbarium sheet
Ans @ (¢) Punnett square

Punnett square was used by GJ Mendel to determme

the law of inheritance in his experiments with pea
plants.

When a bread of cattle with ved coats is crossed with
the zame breed with white conts, all the offspring
have vouts with o mixtore of red and white hairs, a
comdition called roun,

If roan cows were crossed with o red-coated bull, the
thearetical vatio of the offspring would be

(a) all red (b) all youn

(¢) 1red . 1 roan (d) 3 red : 1 roan
Ans: (¢) 1 ved : 1 roan

She following cross shows how this ratio 1 @ 1 w
obtamed.

Parents Roau Red
Genotype Rr RR
Gametes = (R) (x) ()
Offsprings : KR Rr
Geunotype

Phenotype : 1 Red 1 Ruan

23. Which of the following are fossils”

(a) pollen graine buried m the bottom of a peat bog
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(b) the petnfied cast of a clam’s burrow

(¢) the inpression s clun shell made m mud, preserved
in mudstone

(d) all of the above

Ans : (d) all of the above

Which statement is true for o dominant allele”

(a) It cannot undergo mntation

(b) Tt gives a greater chance of enrvival than a
recessive allele

() It gives the same phenotype in heterozygotes and
homozygotes

(d) It is only responsible for male characteristics

Auns : (c) It gives the same phenotype in heterozygotes

and homozygotes

Dominant allele suppresses the recessive allele in teris

of its expression. Hence, 1t akso shows its phenotype
in heterozygotes

Which statement about the genotypes of organisms

18 corvect?

{a) Dominant alleles are only found in homozygotes

(b) One recessive allele always causes n recessive
phenotype

{v) Recessive phenotypes must be homozygous

(d) The dommant phenotype msut be heterozygous

Ans : (¢) Recessive phenotypes munst be homozygous

Recessiive phenotype only expresses if both alleles are

homaozygons, while dominant phenotype may express

m either homozygous ar heterovgous conditions.

A farmer saves the seeds fram his best maize crop

plants to sow for next year's crop.

(a) artificial selection (b} genetic engineering

(¢} natural selection (d) variation

Ans : (o) artificial selection

Its artifiial selection becouse the farmer 1s giving the

chance to grow best maize crop next year while the

natural selection cperates due to competition and

swrvival for the fittest.

What 15 a result of natural selection?
{#) Dogs that are friendly to hmnans

{b) Grapes that contain no seeds

(€) Mosquitoes that are resistant to insecticides

{d) Onion crops that have a pleasant. taste

Ans : (¢) Mosquitoes that are resistant 1o insecticides

By natural selection, resistant mosquitoes are
produced dut to contimuous spray of msecticides.

Mendel's coneept of scgregution unphies that the two
members of an allelic pair of gemes-

(8) are dtributed to separate gametes

(b) may contamnate one another

(¢} are segreguted m pairs

(d) wre linked

Auns 1 (a) are distnbuted to separate gametes

Lo

29

an.

Your arm & homologons with-

(n) o seal Mipper (b) an octopus tentacle
(¢) o bird wing (d) both o and ¢

Aus : (d) both a and ¢

Which statement desciibes an exumple of artificial

selection”

(a) Tt has been found that some sirains of bacteria
produce antibiotics

(b) It is common practice to mate bulls with cows
that produce the most milk

{¢) It 15 possible to control caterpillars on food crope
by releasing small wasps which lsy their eges on
caterpillars and kill them

{d) Mosquitoes have developed strains that are
resistant 1o insecticides

Aus : (b) It & conmnon practice to mate bulls with

cows that produce the maost milk

Artificial cvoss-breeding of animals and then selection

of desirable traits i an example of artificial selection

by human beings.

Which of the following evolutionary mechanisms acts
to slow down or prevent the evolution of reproductive
isolation?

(n) Natural selection
(¢) Mutation

Aus : (b) Cane flow

(L) Gene flow
(d) Cenetie drift

. Which of the ollowmg features do humans lack thas

othor primates havo?

(n) Forward-facing eves

{b) Short snouts

(c) Flexible shoulder and elbow joints
(d) Opposable g toes

Ans : (d) Opposable big toes

A recessive homozygote is crossed with a heterazygote
of the same gene. What will be the phenotype of the
Fi-generation”

(a) All dominant

(b) 76% dommant, 25% recessive

() 50% dowminunt, 0% recessive

(d) 25% dominant, 50% heterozygous, 26% recessive
Ans : (¢) 50% dommant, 50% recessive

Sappose aa is recessive homozvgote and Aa s
heterozygote. Rusult of the cross are shown below,

Parents Aa b aa
Gawetes : (A (a) “P ()
= =
‘ e '\"4
Genotype of F : Aa Aa an aa
Phenotype of F, © 50% 50%
dominant recessive
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34 The genotype of the height of an organism is written

as T, What conculsion mny be diawn?

(n) The allele for height has at least two different
genes

(b) There wre atleast two different alleles for the gene
for height

(¢) There ave two different genes for height, each
having a single allele

(d) There s one allele for height with two different
forms

Ans : (b) There are atlesst two diffexent alleles for the
gene for height

Alleles are different forins of the same gene They
ocoupy the sune relative positions on a panr of
homologous chromosomes. The wsllele for  tallness
is designed T (dominant allele) and the allele for
dwarfness. v (rocessive allele) The different slleles
for height represented in the genotype Tt shows that
the organisms is heterozygous for height and exhibit
tallness.

1. The sex clhromesomes m wale sie indicated by ... ..
Ans: XY

2. Tendril of a pea plant and phylloclade of Opuntia are
Ans : aualoguus

3. Chromosome consists of 8 DNA molecule and ... .
Ans : Protein

4. The sex chromosomes m female are mdicated by ... ... >
Ans : XX

5.  The phenotypic ratio between tall and dwarf is ...
Ans: 31

6. The phenotypic m dihybnd cross & ...
Ans:90:3:3:1

0. The differences [rom one generstion to the other
generation are called

Ans : Variations

8. The offspring can be of two types with XX and
chromosomes.
Ans : XY

0. . . reprixiuction canses greater diversity.
Aus ; Sexual

M. Transmsson of trasts from one generation to the next

Dowriload all GUIDE and Sample Paper pdfs from
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. The two types of reproduction are sexual and

generation is called
Ans : Heredity

The chromosome related to determination of sex is
called ...

Ans : Sex Chromosome

A test cross cun distinguwish the pure dommant from
the . dominant
Ans : lmpure

Mendel performed his expermments on .
Aus : Garden pea

According to modem concept, Mendel's [actor is
called o ...
Ans : Gene

Charactenstios that are developed during the lifetime
of an individual are .
Ans : acquived

Mendehan factors or genes as well as chromasomnes are
present in
Ans : Pairs

The traits which express themselves in F genetation
are called

Aus : Dommant

The genetics 1s the scence of ... and ...
Ans : Heredaty, Vanations

DNA segment n a chromosome performing specific
Fanction is the -
Ans : pene

The traits which are acqnired by an organtsin during
its lifetime are called ...

Ans : Acquired traits

Ans ¢ Asexual

.......... traits are unable to express in a hybnd.
Ans ¢ Recessive

Two types of nuclew acids sae DNA and ... !
Aus : ENA

Out of tall and dwarf plants ... trait 15 dominant,
Ans ¢ Tall
If tall plant contwns TT geme then dwmf plant
contains . ..
Ang: TT
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L SERA ~enlled father of genetics.
Ans : Mendel

28. The termn genetics was coined by .. ...
Ans : Bateson

30. Mendel  chose
oxperimants.
Ans : Seven

characters wm Pea for his

31. Broccoli has been developed from
throngh artificial selection

Ans : Wild

cabbhage

3. . specistion ocemx in geographically separated
populations.

Ans : Allopatne

33, Fossils ave written docwinents of
Ans : Evolution

3. Earth cam into existence probably millon

YURLS BEO.

Ans @ 1600

proved that life ongmated from
Ans : Stanley Miller and Harold Urev

36. There is no possibility of chemical evolution of life on
earth today, because x
Aus : The atmosphere s oxidising

31. Mendel is known os the fatherof . .
Ans : genetics

38. An atmosphere rich in hydrogen is an
atinosphere
Ans : Reducing

39. The fist organisms were .. ... and not sutotrophs.
Ans : Heterotrophs

80. The study of fossils, & branch of bwlogy called
was foumded by Goerges Cuver
Ans : Paleontology

&1 ‘The age of fossl is usunlly determined by analysing
the ... . present in the rock from which fossil is
yecovered.
Ans : Radioactive materials

42, Theory of natural selection was proposed by .
Ans : Darwin

83, The theory of natural selection was given by .
Ans : Darwin

M. Wind of hat and wing of bird are the example of the
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Ans : Aunlogous

85. The provess by which new species develop from
existing ones i called ...

Ans : speciation

86, Forelimbs of frog and hzard wre the example of the
... OTgans.
Ans : Homologous

RN are the chromaosomes found m somatic cells.
Ans @ sutosomes

48. The unalogous organs have similar functions but have
....... - structures.

Ans : Different

49, The homologous organs have different functions but
have ......... structures

1. Selection of variants by envirommental factors forms
the basis of evolutionary process
Ans : True

2. The more characteristics twa species will have in
common, the more closely they are related

Ans : e

3. Traits which are nat inherited over generations do nat
canse evolution.

Ang : True

4 Both the paents contribute DNA equally to the
offspring.
Ans : True

5. Sex of the child is deterrmned by the type of ovum
provided by the mother.
Ans : False

5. A recessive trait can also be common as blood group
O

Ans : True

1. There wus plenty of oxygen present in atmosphere of
primitive earth
Ans : False

8. Variations avising during the process of reproduction
cannot be inhented
Ans : False

8. Sex i¢ determmmed by different factors i vanous
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species.
Aus : True

At present time ovolution is not possible
Ans : False

Mouth parts of imsects show divergent evohition.
Ans : True

. Life cun originate on earth from pre-existing life anly
Ans : Trus

The atmosphere of the primitive earth was reducing.
Anz : True

Changes in the non-reproductive tissues cansed by
cnvironmental fuctors are inheritable.
Ans : False

Evolution camot be suid to ‘progress’ fom lower’
forms to “higher' forms.
Ans : True

Exchange of genetic material takes place in asexual
reproduction.
Ans : False

A eross between o true tall and pure dwarf pea plant
resulted in prodnction of all tall plants becanse tallness
1% the dominunt trmt,

Ans : True

For evary molecule of fat there is a gene
Ans : Fulse

Reduction i weight of an organsm due to putition is
Ans : False

Roduction in weight of the arganism due to starvation
is genetically controlled.
Ans : False

New species may be formed if DNA undergoes
significant changes germ cells o chromosome number
chunges in the gametes,

Aus : True

Vanation 18 mmimum m ssexusl reproduction.
Auns : True

Tendril of a pea plant and phylloclade of Opuntia we
homwologons.
Ans : True

The artificial classification of organisms is hased on
homaology.
Aus : True

1285 anu imimpie Doper pdfs from
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25, A trait m an organisi is influencad by both matermal
and paternal DNA

Aus : True

26. The sumilanties m homologous organs sz becanse of
comvergent evalntion
Ans : Tine

21. A factor which shows its effect in the hybrid is called
reccssive.

Ans : False

28, Drommesaurs were the first to fly
Ans : False

9. Attached ear lobe is recessive trait
Ans : Trne

3. Charles Darwin discoverad the law of independent
nssortment.

Ans : False

DIRECTION : Fach question contains statements given m
two columns which have to be matched. Statements (A, B, C,
D) m colunn-1 have to be matched with statements (p, q. 1, 5)
m colwmn I1L

1 Match the genetic oross of the parents on the left
with the genotypes of the offspring most likely to be
produced from that cross on the right

Colunm 1 Coluwnm 11
(A) BH X bb (p) 100% Bb
(B) Bb x Bb (q) | 25% BB, 50% Bb,
25% bb
() BB x BB (r) 1000% BB
(D) bb % bh (s) 100% bb

Ans : A-p, B-gq, C-r, D-s

2 Mateh the physical evidence of evolution with the hest
description of that particulsy type of evidence

Colwm I Colwun 11
(A) Fossils {(p) | The vemains of de-
that are studied.
(1B) Embryology (q) Comparisons
of the early
development
stages of an
arganism
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DIRECTION : In the following questions. a statement of
assertion (A) is followed by a statement of reason (R). Mark
the correct choice as:

Column [ Colmmn 1

(C) Cytology (r) | Cowparing and

constrasting cell

structures found

within an argan-
=,

(D) DNA evidence {s) Comparing
stmilarities and
differences be-

tween amino actd
sequences in two
Organisims
Ans : A-p, B-q, C-r, Ds
1
Coluumn [ Column I1

(A) Erect apemun | (p) Java man

(B) Homo sapiens {q) | Cramagnon man

fossils

(C) | Base snalogons | (x) | 5-Bromouracil

(D) Lamarek (g) | Theary of mher-

itance of acguired
character.
Ans : A-p, B-q, C-r, s
a
Colwmm I Colum 11
(A) Allopatric specia- | (p) Finches to
tion dorwin
(B) |Bar eve character in | (q) | Duplication in
Drosophila X-chromosome
() Lomis pastenr (r) Swan neck
experimant
(D) Ladder of nature | (s) Anstotle
Ans : A-p, B-q, C-1r, D-s
5
Columm I Colwnm IT
(A) | Genetic changes | (p) | Homologons evgan
(B) | Independent imher- | (q) Fossil
itance
(C) | Natural selection | (1) Analogous organ
(D) Dihybnd ratio (s) XYy
(E) | Male humuan beings | (t) 9:8:8:1
(F) | Wing of o bat and a | (n) Darwin
wing of u bird
(G) | Remanant of ancient | (v) Mendel
animals
(H) | Arm of a man and | (w) DNA copying
wing of a bird
Ans : A-w, B-v, C-u, D, E-s F-r, G-q, H-p
Download m. - VIDE and Sample Paper j)(.llﬁ from

(a) Both nssertion (A) and renson (R) are true and
reason (R) is the correct explanation of assertion
(A).

(b) Both assertion (A) and rewson (R) are tiue but
reason (R) is not the comrect explanation of
wssertion (A).

(¢) Assertion (A) is true but reason (R) s false.

() Assertion (A) is false bot reason (R) is true,

(e) Both Assevtion and Reason are false.

Assertion : Evohition is called as organic evolution
Reason : Evolution mvolves the hiving orgumsms,

Ans @ (a) Both sssextion (A) snd renson (R) are true
and reason (R) 1 the correct explanation of assertion
(A)

Evolution is called as organic evolition, becanse it
invalves the hiving organisms.

Assertion : Domwmment sllele 3 wn allede whose
phenotype expresses even in the presence of another
allele of that gene.

Reason : It is represented by o capital letter, eg T
Ans: (b) Hoth assertion (A) and reasom (R) are
true but reason (R) s not the correct explanation of
assertion (A)

Dominant sllele = an allele whose phenotype will be
oxpressed even in the presence of another allele of that
gene [t 1 represented by a capital letter, e g T Both
Assertion and Reason are true, but Reason is not the
correct explanation of Assertion

Assertion : Porelimbe of vertebrates are homologous
ORI,

Reason : Analogous organs have same origin but
different fumctions.

Ans : (c) Assertion (A) 18 true but reason (R) s false
Forelimbs  of vertebrates are homologous organs
Analogous organs have different origin but show
similal appesrance.

Assertion : The sex of the children will be determined
hy chromosome received from the father

Reason : A human male has oue X and one Y
~chromoscime.

Ans : (o) Both sssertion (A) and resson (R) are true
and reason (R) ig the correct explanation of assertion
(A).

If a child inherits X -chromoscme from the father will
be o girl and one who inherits n ¥V-chromosome will
be a bay.

Assertion : Among the primates. chimpanzee i the
clogest relative of the present day humana

Reason : The bandimg pattern in the antosome number
3 and 6 of man and chimpanzee 8 remarkably similar

Aus : (a) Both assertion (A) and 1eason (R) are true
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and reason (R) is the correct explanation of assevtion
(A).

The banding pattern seen on stained chromosomes
from  humans and chimpanzee show striking
similarities which indicates that they have evolutionary
relationships (cytogenetic evidence).

Assertion : Human ancestors never used their tails
and 50 the tml expressing gene has dissppeated m
them

Reason : Lamnrck's theors of evolution is popularly
called theory of continmity of germ plasm

Ans : (c) Assertion (A) is true but reason (R) i= false

According to Lammark’s theory, contimons disnse of
organs muake themn weak The theory of continuity of
germplosm was given by Weisinann.

Assertion : Speviation 5 the provess of formation of a
new species from s pre-existing one
Reason : Mutation plays a role in speciation.
Ans : (a) Both assertion (A) and reason (R) are trus
and reason (R) s the correct explanation of assertion
(A).

Specintion is an evolitionary process by which new
species arse. One of the factors that lead Lo speciation
is mutation

Assertion : Mutation is sudden change m the genetic
material

Reason : Vaniation i useful for the survival of species
over time

Ans: (b) Both assertion (A) and reason (R) we
true but reason (R) s not the correct explanation of
assertion (A).

Assertion : Changes in non-reproductive tissues can
be passed on the the DNA of the germ cells.

Reason @ Inherited] traits mclude the traats developed
during the lifetime of an individual that cannot be
passed on 1o its propeny.

Ans : (d) Assertion (A) is false but reason (R) is true
Changes m non-reproductive tissues cannot be passed
on the the DNA of the genm cells

The traits developed during the lifetime of an
mdividual that cannot be passed on to its progonics
are acquired traits

Assoertion : Chromosomes are known as hereditary
vehicles

Reason : The chromosomes arve capable of self-
reproduction and  mamtainmg  morphological
and  physiological  properties  throngh  successive
gemerations

Ans: (a) Both assertion (A) and reason (R) are true
and renson () s the correct explanation of assertion
{A).

Assortion : Mendel chose a nnmber of varicties of
gurden pea s plant material for his experiments
Roeason : Garden pea has well defined characters and
was bisexual.

Aus 5 (1) Both assertion (A) and resson (R) wre true

Download all GUIDE and Sample Paper pedfs from
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and veasom (R) i the correct explanation of assertion
(A).
Mendel chose gardem pen as plant materiol for his
experiment becanse garden pea plants were easily
available/they grow m one season /fertilization wes
ensy.

Assertion : Far mnscles of oxternal ear in man are
pootly developed

Reasan : These miscles are nseful which move external
eaxr freely to detect sound efficiently.

Ans : (o) Assertion (A) 15 true but reason (R) is false,

Assertion : The establishment of reproductive
isoloations in an event of biological significance
Reason : In the absence of reproductive wsolation
specics can merge inta single population

Ans : (a) Bath assertion (A) and reason (R) are true
and rewson (R) is the correct explanation of assertion
(A).

Assertion : The sex of a child is determined by the
mother.

Reason : Humans have two types of sex chrormosomes:
XX and XY

Ans @ (d) Assertion (A) 15 false but reason () is true.

Assertion : In lmmans, males play an impartant role
in determining the sex of the child

Reason : Males have two X chromosomes.

Ans : (¢) Assearton (A) 15 true bul reason (R) is false.

Sex of a child s dependent on the type of the male
gamete that fuses with the female gamete. Human
beings possess 23 pairs of chromosomes . Out of these,
22 pairs are known as autosomes, while the remaming
one pair comprises sex chromosomes (XX in females
and XY in males) At the time of fertilisation. tha
egg cell fuses with the sperm cell, yresulting in the
formation of the zygote I the egg cell carrving an
X chromosome fuses with the sperm earrying an X
chromaosome, the resulting child would be a girl. If
the egg cell caxrying an X chromosome fuses with the
sperm carrying a Y chromosome, the vesulting child
wounld be & boy

Assertion : DNA finger printing i a method in which
polvmerase chamn reaction followed by DNA probe is
need

Reason : A DNA finger prnt is mhented snd therefore,
resembles that of pavents.

Ans : (a) Both assertion (A) and reason {R) are true
and reason (R) 15 the correct explanation of assertion
(A)

Assertion : The birds have large, light spongy bones
with air sacs

Reason 1 These adaptations help them during flight.
Ans ¢ (s) Both assertion (A) and resson (R) are trne
and reason (R) is the correct explanation of assertion
(A).

Assertion 1 We have lost all the divect evidence of
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origin of life.

Reason : The persons respomsible for protecting
evidences were not skilled

Ans : () Assertion (A) is true but resson (R) is false,

Assertion : Vanations are seen in offspring produced
by asexunl reprodunction

Reason : DNA molecule generated by replicat
not. exactly wentical to ariginal DNA
Ans : (a) Both assertion (A) and reazon (R) are tine
and resson (R} is the correot explunation of sssertion
(A)

n =

Assertion : Although living organism always arise
fromn other hiving organism,, life should certunly have
had n beginning

Reason : The study of the conditions and the
mechansms invalved in the creation of most primitive
hving structures on earth is actually the problem of
orgin of life

Ans : (a) Hoth assertion (A) and reason (R) are tru

and rewson (R) 15 the correct explanation of assertion
(A)

Assertion : Wings of butterfly and wings of bat we
analogous organs.

Reason : Analogous organs hove different origin and
structural plan but same function.

Aus : (a) Both assertion {A) and reason (R) are true
and veason (R) is the correct explanation of assertion
(A)

Wings of butterflly and wings of bat thongh they
perform similar function, they have different origing/
basic strocture. Henee, they e known s analogous
organs.

Assertion : Mendel solected the pea plant for his
expernnents.

Reason : Pea plant is cross-pollmating and  hes
unisexual flowers

Aus: (a) Both assertion (A) and rewson (R) are
true but reason (R) is not the correct explonstion of
assertion {A).

Assertion : The genetic complement of an organiem i
valled genotype

Reason : Genotype s the type of heveditary properties
of an organist.

Ans 1 (a) Both assertion (A) and reason (R) are true
and veasom (R) is the correct explanation of sssertion
(A).

Genotype of the organism inclode all dominant and
recessive charactors.

Assertion : Learming a skill such as dance and music
is an acuired trati.

Reason : Acquired traits develops i the life time of an
imdividual and do not pass to the progeny.

Ans : (a) Both assertion (A) snd reason (R) are tue

and veasom (R) is the correct explanation of assertion

(A).
Trails which develop in the life time of an individual

.

and do not pass to the progeny are called aceuived

" traits Leamning o skill such as donce/music/loss of

body parts/weight etc are example of acquired traits

25. Assertlon : Traits like eye colour or height arve imherited

26.

trts,

Reason : Inhevited traits are not transferred from
parents to young ones.

Ans : (¢} Assertion (A) 15 true but reason (R) 1s false

Eve colour and height are genetically mherited traits,
as these we expressed by genes Inherited traits are
the traits which are transferred from parents to voung
ones. Acquired truits are the chometers that are
acquired by the individoal during its lifetine These
tooits connot be inhented. For example, if & wrestler
develops large muscles due to his training program
that does not menn it will be passed on to his offspring

Assertion : Fossils are remains of dead organisms.
Reason : It is helpful in study of evolution.

Ans : (b) Both sssertion (A) and reason (R) mre
tre but reason (R) is not the correct explanation of
assertion (A)

Foseils are remams of hard parts of the past individunls
in the strata of earth It help in tracing evolutionary
pathways.

21. Assertion : A geneticist crossed two pea plants and

got 50% tall and 50% dwwf in the progeny

Reazon : OUma plant was heterozygous tall and the
other was dwif.

Ans : (n) Both pssertion (A) and resson (R) are tiue
and reason (R) is the correct explanntion of assertiom
(A)
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